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KeS$ha is driving home from her Vancouver concert at 10m/s. A “fan” on the
sidewalk throws a pie in her direction, also at 10m/s while another fan takes a
photo, with the flash sending light towards her at 300,000,000m/s (both as
measured in the frame of reference of the road). According to Einstein, in
KeS$ha’s frame of reference,

A) The pie hits Ke$ha at 20m/s and the light hits Ke$ha at 300,000,010 m/s
B) The pie hits Ke$ha at 20m/s and the light hits Ke$ha at 300,000,000 m/s
C) The pie hits Ke$ha at 10m/s and the light hits Ke$ha at 300,000,010 m/s
D) The pie hits Ke$ha at 10m/s and the light hits Ke$ha at 300,000,000 m/s

Choose the answer which is most nearly correct.
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